Autoenge Solutions

ACESSORI CS

P/

Cl L1 NDRGS | SO

Solucdes Metroldgicas e
Instrumentacao Industrial

CANTONEIRA
@V@

2-OAK

mpax

agf ]

|
2-gAaLl _[]] |
H ARG } !

FLANGE

BB

RO el

/
ARWARY
\SP/ANY)
A
N

| |

BE
BF

T

|

Ll

l

|

!
ZER

4-GBP

\
PARN/aA)
NPANY
|
]
L -

ml_.
g
AK

2

(1) 32 40 50 63 80 | 100 | 125
AA 32 36 45 50 63 71 90
AB 30 35 40 45 45 55 60
AC 32 36 45 50 63 75 90
AD 32,5 38 46,5 56,5 72 89 110
AE 46,5 52,5 65 75 94,5 | 114,5| 140
AF 24 28 32 32 41 41 45
AG 9 11 11 14 14 16 18
AH 15,8 17 21,8 | 21,8 27 26,5 35
Al 3,2 3,2 3,2 3,6 4,5 4,5 8
AK 6,5 6,5 8,5 8,5 10,5 10,5 12,5
AL 7 10 10 10 12 14,5 16,5
-
o ® | sy
- -
e ©
(1) 32 40 50 63 80 | 100 | 125
BA 30,3 35,3 | 40,3 | 453 | 453 55,3 60,3
BB 10 10 12 12 16 16 20
BC 45 52 65 76 94 112 140
BD 32 36 45 50 63 75 90
BE 80 90,0 110 120 150 | 175,0| 224
BF 64 72 90 100 126 150 180
BH 6,5 6,5 8,5 8,5 10,5 10,5 15
Al 10,5 10,5 13,5 13,5 16,5 16,5 19
AK 6,5 6,5 8,5 8,5 10,5 10,5 12,5
BP 7 9 9 9 12 14 16
T 32,5 38 46,5 56,5 72 89 110

www.autoengesolutions.com.br



Autoenge Solutions Na@=SSOxes

Solucdes Metroldgicas e
Instrumentacao Industrial

ARTICULACAO TRASEIRA
MACHO

=1=] O E S]]

| g PDEHS)
_$_
o

ARTICULAGCAO TRASEIRA
FEMEA

BCEMHS)

3

@ 32 | 40 | 50 | 63 | 80 | 100 | 125
S 45 52 65 76 94 112 140
T 32,5 38 46,5 | 56,5 72 89 110
RR 6,5 6,5 9 9,5 11 11,5 12
DB 34 41 54 65 83 101 123
DC 22 25,0 27 32 36,0 41 50
DD 10 11 13 16 16 20 25
DE 10 12 12 16 16 20 25
DQ 26 28 32 40 50 60 70
D 6,5 6,5 8,5 8,5 10,5 | 10,5 | 12,5
E 14 17 17 22 24 25 30
[0} 32 | 40 | 50 | 63 | 80 | 100 | 125
S 45 52 65 76 94 112 140
T 32,5 38 46,5 | 56,5 72 89 110
D 6,5 6,5 8,5 8,5 10,5 | 10,5 | 12,5
E 14 17 17 22 24 25 30
RR 6,5 6,5 9 9,5 11 11,5 12
CB 34 41 54 65 83 101 123
cC 22 25 27 32 36 41 50
Cb 10 11 13 16 46 20 25
CE 10 12 12 16 16 20 25
CP 26 28 32 40 50 60 70
CT 45 52 60 70 90 110 | 120
PA1 53 60 68 78 100 | 120 | 130
PB1 46,5 | 53,5 | 61,5 | 71,5 | 91,5 | 111,5| 121,5

www.autoengesolutions.com.br



Autoenge Solutions Na@=SSOxes

Solucdes Metroldgicas e
Instrumentacao Industrial

SUPORTE OSCILANTE

[1) 32 40 50 63 80 | 100 | 125
AH | 32 36 45 50 63 71 90
H 8 10 12 12 14 15 20
CD 10 12 12 16 16 20 25
G3
o B cB Gl | 31 35 45 50 60 70 90
: G2 18 22 30 35 | 40,0 | 50 60
_ B _ e G3 | 21 24 33 37 47 55 70
1 CB| 26 | 28 | 32 | 40 | 50 | 60 | 70
= K1 38 41 50 52 66 76 94
<Iz S K2 | s1 54 65 67 86 96 124
=
: T T T : ;,_:1 S1 11 11 14 14 17 17 20
T Evbsd (558 B g : LR
i il il S2 | 66 6,6 9 9 11 11 14
N =) S2
=y 1 | T | 16 | 16 | 16 | 16 | 25 | 25 | 32
K2 R 10 11 13 15 15 19 | 22,5
PONTEIRA FEMEA PONTEIRA MACHO
NG NE
f ND ND
! ~NE i U NE NG
| {1 : o~ \ 0
: o £ - 1 R [
il 1 el S I Sl = Sol T
f =l M : "3 '
> ' S
>
L EANC :_____ NH L BNC| oo ___ NH
_ ____f ______ |~ _ _Géi___i}f ______ e
| -
I | r
1
@ | NA| NB | NC| ND | NE NF | NG NH NJ NK | MM | NP | NQ | PA PB

32 19 20 10 40 52 15 20 M10X1,25 | 15,5 16 10 20 52 26,2 20
40 | 24 24 12 48 67 24 20 M12X1,25 | 20,5 20 12 24 62 32,8 | 26,5
50 | 32 32 16 64 89 32 23 M16X1,5 26 30 16 32 83 39,3 33
63 32 32 16 64 89 32 23 M16X1,5 26 30 16 32 83 39,3 33
80 | 40 40 20 80 112 40 30 M20X1,5 30 38 20 39,5 | 105 | 53,3 45
100 | 40 40 20 80 112 40 30 M20X1,5 30 38 20 39,5 | 105 | 53,3 45
125 | 62 49 20 99 122 54 50 M27X2 28 38 30 34 120 75 66

www.autoengesolutions.com.br



Autoenge Solutions

Solucdes Metroldgicas e
Instrumentacao Industrial

PONTEIRA ROTULAR
PK

o &

e

<
N 0
=N
=s
PdJ
@ | PA| PB| PC| PD | PE | PF PG PH | PI | P | PK

32 11 26 10 20 43 56 M10X1,25 13 19 17 14
40 12 32 12 24 50 66 M12X1,25 13 22 19 16
50 15 40 16 28 64 84 M16X1,50 15 27 22 21
63 15 40 16 28 64 84 M16X1,50 15 27 22 21
80 18 46 20 35 77 100 M20X1,50 15 34 30 25
100 | 18 46 20 35 77 100 M20X1,50 15 34 30 25

JUNTA FLUTUANTE

MG MF
MB MO MD
MA
@ | MA| MB| MC| MD | ME | MF | MG | MH M M) MK

32 58 22 7 21 26 11,5 7 10 M10X1,25 M10X1,25 12
40 58 22 8 21 28 11,5 8 12 M12X1,25 M12X1,25 12
50 90 27 10 41 44,5 20 10 17 M16X1,50 M16X1,50
63 90 27 10 41 44,5 20 10 17 M16X1,50 M16X1,50
80 | 102 29 13 46 53 24 13 22 M20X1,50 M20X1,50 10
100 | 102 29 13 46 53 24 13 22 M20X1,50 M20X1,50 10

www.autoengesolutions.com.br



R ] ACESSCRI OS P/ CI LI NDRCS @
MN | SO

Solucdes Metroldgicas e
Instrumentacao Industrial

CANTONEIRA FLANGE
- ASX [R] 2 JFB
20 | ] '__'
2 11 |
g ke
T n| E1R=1 k
. 5 1 il K v - ]
i TR - L
[ W= 2-GFB [ ]
| .MmF
0} 12 16 20 25 [0) 12 16 20 25
AT 4 4 5 5 E 30 30 40 40
AU 14 14 17 17 FB 6 6 7 7
AX 20 20 25 25 MF 4 4 5 5
FB 6 6 7 7 TF 40 40 50 50
NH 20 20 25 25 UF 53 53 66 66
TR 32 32 40 40 D 16,3 16,3 22,3 22,3
Us | 42 | 42 | s4 | 54
D 16,3 | 16,3 | 22,3 | 22,3
AR 32,5 | 32,5 42 42
RI R12,5| R12,5 | R17 R17

ARTICULACAO TRASEIRA
FEMEA
c @ 12 16 20 25
| - C 15 15 20 20
n | = FB 6 6 7 7
]
R : | - H 27 27 30 30
! T L 25 25 32 32
Ehst M 18 18 22 22
~ 'N’ - N 18 18 25 25
. E 12 12 16 16
T 3 3 4 4
EA1
D 6 6 8 8
FPB1
— AR | 34 34 39 39

www.autoengesolutions.com.br



